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1) In a pack 15 oranges, 3 are mouldy. Explain how you know the answer is Make the Statement s 1) Write down a prime number between 20 and 30.
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100 > m 6 | Two numbers, A and B, are shown on a scale. The difference between A and B is
13 3
56. Work out the value of A and B.
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Harley has done some calculations. Explain how you know the
answer is incorrect without working out the answer.
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2) Write down a number between 2.34 and 2.35.
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The kids pool is full. & T R
The adult pool is only 25% full. 2S Yo \C 76 3570

The wall connecting the two pools is lowered and the
water fram the Kids pool is released into the adults pool
before the wall is raised again.
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